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dqy iz’uksa dh la[;k % 26 dqy i`"Bksa dh la[;k % 08 

Total No. of Questions : 26  Total No. of Pages : 08 

214 
fo"k; %fo"k; %fo"k; %fo"k; % vFkZ’kkL=vFkZ’kkL=vFkZ’kkL=vFkZ’kkL=    

Subject : ECONOMICS   

le; % 03 ?k.Vs  iw.kk±d % 100 

Time : 03 Hours  Maximum Marks : 100 

funsZ’k %&funsZ’k %&funsZ’k %&funsZ’k %&            

        ¼1½¼1½¼1½¼1½    lHkh iz’u djuk vfuok;Z glHkh iz’u djuk vfuok;Z glHkh iz’u djuk vfuok;Z glHkh iz’u djuk vfuok;Z gSaASaASaASaA    

        ¼2½¼2½¼2½¼2½    05 ¼5 05 ¼5 05 ¼5 05 ¼5 ××××    5 5 5 5 = 25½ iz’u oLrqfu"B gSaA25½ iz’u oLrqfu"B gSaA25½ iz’u oLrqfu"B gSaA25½ iz’u oLrqfu"B gSaA    
        ¼3½¼3½¼3½¼3½    iz’uksa ds fu/kkZfjr vad vkSj 'kCn lhek bl izdkj gSiz’uksa ds fu/kkZfjr vad vkSj 'kCn lhek bl izdkj gSiz’uksa ds fu/kkZfjr vad vkSj 'kCn lhek bl izdkj gSiz’uksa ds fu/kkZfjr vad vkSj 'kCn lhek bl izdkj gSaa aa    %&%&%&%&    
            ¼1½¼1½¼1½¼1½    oLrqfu"B iz’u 05 ¼5 oLrqfu"B iz’u 05 ¼5 oLrqfu"B iz’u 05 ¼5 oLrqfu"B iz’u 05 ¼5 ××××    5 5 5 5 = 25½25½25½25½        25 vad25 vad25 vad25 vad    
            ¼2½¼2½¼2½¼2½    iz’u Øekad 06 ls 11 rdiz’u Øekad 06 ls 11 rdiz’u Øekad 06 ls 11 rdiz’u Øekad 06 ls 11 rd            ¼6¼6¼6¼6××××2 2 2 2 =12½ 02 vad12½ 02 vad12½ 02 vad12½ 02 vad                    
                'kCn lhek 20 'kCn'kCn lhek 20 'kCn'kCn lhek 20 'kCn'kCn lhek 20 'kCn                        
            ¼3½¼3½¼3½¼3½    iz’u Øekad 12 ls iz’u Øekad 12 ls iz’u Øekad 12 ls iz’u Øekad 12 ls 16 rd16 rd16 rd16 rd            ¼5¼5¼5¼5××××3 3 3 3 =15½ 03 vad15½ 03 vad15½ 03 vad15½ 03 vad    
                'kCn lhek 30 'kCn'kCn lhek 30 'kCn'kCn lhek 30 'kCn'kCn lhek 30 'kCn    
            ¼4½¼4½¼4½¼4½    iziziziz’u Øekad 17 ls 20’u Øekad 17 ls 20’u Øekad 17 ls 20’u Øekad 17 ls 20    rdrdrdrd            ¼4¼4¼4¼4××××4 4 4 4 =16½ 04 vad16½ 04 vad16½ 04 vad16½ 04 vad    
                'kCn lhek 4'kCn lhek 4'kCn lhek 4'kCn lhek 40 'kCn0 'kCn0 'kCn0 'kCn    
            ¼5½¼5½¼5½¼5½    iz’u Øekad 21 ls 24 rdiz’u Øekad 21 ls 24 rdiz’u Øekad 21 ls 24 rdiz’u Øekad 21 ls 24 rd            ¼4¼4¼4¼4××××5 5 5 5 =20½ 05 vad20½ 05 vad20½ 05 vad20½ 05 vad    
                'kCn lhek 70 'kCn'kCn lhek 70 'kCn'kCn lhek 70 'kCn'kCn lhek 70 'kCn    
            ¼6½¼6½¼6½¼6½    iz’u Øekad 25 ls 26 rdiz’u Øekad 25 ls 26 rdiz’u Øekad 25 ls 26 rdiz’u Øekad 25 ls 26 rd            ¼6¼6¼6¼6××××2 2 2 2 =12½ 06 vad12½ 06 vad12½ 06 vad12½ 06 vad    
                'kCn lhek 100 'kCn lhek 100 'kCn lhek 100 'kCn lhek 100 'kCn'kCn'kCn'kCn    
INSTRUCTIONS: - (1)  All questions are Compulsory. 

  (2)  05 (5 ×××× 5 = 25) questions are objective types. 

  (3) Marks allotted of each question and limits of words:– 

   (1) Objective types Questions 05 (5 ×××× 5 = 25) 25 Marks 

   (2) Question No. 06 to 11    02 Marks (Each question)
 Words Limit : 20 Words. 

   (3) Question No. 12 to 16    03 Marks (Each question)
 Words Limit : 30 Words. 

   (4) Question No. 17 to 20    04 Marks (Each question)
 Words Limit : 40 Words. 

   (5) Question No. 21 to 24    05 Marks (Each question)
 Words Limit : 70 Words. 

   (6) Question No. 25 to 26    06 Marks (Each question)
 Words Limit : 100 Words. 
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                oLrqoLrqoLrqoLrqfu"B iz’u fu"B iz’u fu"B iz’u fu"B iz’u %&%&%&%&                                                                                                        ¼5¼5¼5¼5××××5 5 5 5 =25½25½25½25½    

     Objective Question :–  

iz-1 [kkyh LFkku Hkjks %&   ¼5½¼5½¼5½¼5½  
 Fill in the blanks:– 

 (A) fdlh Hkh vko’;drk dh larqf"V ds fy;s ,d ls vf/kd oLrqvksa dk iz;ksx djuk iM+rk  

 gSA blhfy;s ge dg ldrs gSa] fd vko’;rk;sa ijLij -------------------------------------------------------------- 

gSaA ¼fuHkZj@vlacaf/kr½  
  Satisfaction of a want requires use of more than one good, so we can say that wants are    

  ………………….. …………………………………………….(Interdependent/ unrelated) 

 (B) gekjh vko’;drkvkas dh larqf"V ds fy;s --------------------------------- oLrq;sa vkSj lsok;sa lqyHk gSaA  

  ¼dbZ@ ,d Hkh ugha½  
  There are good and services that are required to satisfy our want. (many/ none) 

 (C) forj.k oLrqvksa vkSj lsokvksa ds --------------------------------------------- ds ek/;e ls lEié gksrk gSA 

¼Ø; & foØ;@oLrq;sa½  
 Distribution is resulted through ….………………………………………...of goods  

(purchase - sales/ Goods and Services) 

 (D) mRikndksa vkSj miHkksDrkvksa ds chp laidZ ----------------------------------------- }kjk LFkkfir gksrk gSA 

¼forj.k@fofue;½  
Producers and Consumers are linked through…………………………………….. 

(Distribution / Exchange) 

 (E) Ø; vkSj foØ; ------------------------------ eas gksrk gSA ¼cktkj@ dk;kZy;½  
  Buying and selling takes place in a ………………… (Market / office). 

iz-2 lR;@vlR; fy[kks %&  ¼5½¼5½¼5½¼5½    
 Write True / False:– 

 (A) fu;fU=r cktkj esa ljdkj oLrq dh mRiknu ykxr fuf’pr djrh gSA  
  In a controlled market, the government fixes the cost of production of goods. 

 (B) fu;af=r cktkj esa dsoy ljdkj gh foØsrk gksrh gSA 
  Controlled market is a market in which government is the only seller.  

 (C) mRiknu] mi;ksx vkSj fuos’k vkfFkZd xfrfof/k;k¡ ugha gSaA 
  Production, consumption and investment are not economic activities.  

 (D) vf/kd mRiknu ls miHkksx vkSj fuos’k esa o`f) gksrh gSA 
  More production results in more consumption and more investment.  

 (E) “kjr tula[;k dh n`f"V ls fo’o dk nwljk fo’kkyre ns’k gSA 
  India is world’s second largest populated country. 
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iz-3 lgh fodYi pqudj fyf[k, %& ¼5½¼5½¼5½¼5½    
 Select the correct answer of the following:– 

 (A) “kjrh; vFkZO;oLFkk esa gS %& 

  (1) cpr dh mPp nj   (2) csjkstxkjh dh fuEu nj 

  (3) tula[;k o`f) dh mPp nj  (4) mijksDr esa ls dksbZ ugha  
  Indian Economy has –  

  (1) High savings rate    (2) Low rate of unemployment 

  (3) Growth of Population   (4) None of these 

 (B) taxyksa dk iru gksrk gS & 

  (1) “wfe ds {kj.k }kjk   (2) “wfe dh m".krk }kjk 

  (3) “wfe ds [kkjkiu }kjk   (4) mijksDr esa ls dksbZ ugha 
  Degradation of forests is caused by:- 

  (1) Erosion of soil    (2) Loss of moisture in soil 

  (3) Loss of bio - diversity   (4) None of these 

 (C) vkfFkZd oLrq,a os gSa %& 

  (1) tks nqyZe gksa    (2) ftudh dher gks 

  (3) nksuksa gh ckrsa Bhd gSa   (4) dksbZ ugha 
  Economic goods are:– 

  (1) Those which are scarce   

  (2) Those which have a price 

  (3) Those which are scarce and also have a Price     

  (4) None of these 

 (D) fuEu esa ls dkSu lh oLrq euq"; }kjk ugha cukbZ tkrh gS\ 

  (1) [kfut      (2) e’khuas  

  (3) “ou      (4) lwrh /kkxk 
  Which of the following is not man – made? 

  (1) Minerals     (2) Machines 

  (3) Buildings     (4) Cotton thread. 

 (E) fuEukafdr esa ls dkSu lh iw¡th ugha gS\ 

  (1) QSDVjh esa e’khu    (2) fdlku ds ikl gy 

  (3) Jfed ds ikl QkoM+k   (4) miHkksDrk ds ikl dkj 
  Which of the following is not a capital? 

  (1) A machine in a factory   (2) A plough with a farmer  

  (3) A spade with a labourer   (4) Car with a Consumer  
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iz-4 fjDr LFkku %&    ¼5½¼5½¼5½¼5½ 

 Fill in the blanks:– 

 (1) “kjr] usiky vkSj caxykns’k -------------------------------- ns’k gSaA ¼fodflr@ fodkl’khy½   

  India, Nepal, Bangladesh are…………… countries. (Developed / undeveloped) 

 (2) Je iz/kku m|ksx yksxksa dks --------------------------------- jkstxkj iznku djrs gSaA ¼de@ vf/kd½  

  Labour intensive industries provide jobs to …………….. people. (Less/ more) 

 (3) Ñf"k ds {ks= esa ----------------------------- o`f) ls csjkstxkjh esa deh vk;sxhA ¼/kheh & rhoz½  

  ………………… growth of agriculture sector would decrease unemployment . 

 (4) ifjokjksa o QeksZa dh cprsa feydj ----------------------------------- cprksa dh jpuk djrh gSaA  

  ¼lkoZtfud@O;fDrxr½  

  Saving of the household and of the firms together constitute the ………………….. 

  savings. (Personal / Public) 

 (5) Ø; vkSj foØ; ------------------------------ eas gksrk gSA ¼lsokvksa @cktkj½  

  Buying & selling takes place in a ……………… (Service/ Market) 

iz-5 lR;@vlR; fyf[k, %& ¼5½¼5½¼5½¼5½    

 Which of the following statements are True or False? 

 (1) iwathoknh vFkZO;oLFkk ij ljdkj dk iw.kZ fu;U=.k gksrk gSA  

  Government has full control in capitalist economy. 

 (2) ,d fefJr vFkZO;oLFkk esa futh vkSj lkoZtfud {ks=ksa dk lg vfLrRo jgrk gSA 

  In mixed economy public and private sectors coexist. 

 (3) 
tula[; 

  ; vk; jk"
  vk; Dr O;izfr =  

  
Population

Income National
   income capital Per =  

 (4) “kjr eas c<+rh gqbZ tula[;k nj dk dkj.k mPp tUenj gh gSA 

  In India high rate of population growth is due to high birth rate. 

 (5) xSV dk vFkZ vk;kr fu;kZr djksa rFkk O;kikj ij lkekU; le>kSrk gSA 

  GATT stands for the General Agreement on Tariffs and Trades. 

   Vªh

k
f
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iz-6 vko’;drk ,oa bPNk esa nks Hksn crkb;sA ¼2½¼2½¼2½¼2½    

 Distinguish between want and desire. (any two) 

vFkokvFkokvFkokvFkok@@@@OR 

 vko’;drk;sa vlhfer fdl izdkj gks tkrh gSa\ 

 How do wants become unlimited? 

iz-7 mRiknu dk vFkZ crkvks\ ¼2½¼2½¼2½¼2½    

 What is the meaning of Production? 

vFkokvFkokvFkokvFkok@@@@OR 

 cMs vkSj y?kq m|ksxksa esa Hksn crkvksA ¼dksbZ nks½ 

 Differentiate between large – scale and small – scale Industries. 

iz-8 Fkksd foØsrk ,oa QqVdj foØsrk esa nks vUrj fy[kksA ¼2½¼2½¼2½¼2½    

 Write any two differences between Wholesalers & Retailers. 

vFkokvFkokvFkokvFkok@@@@OR 

 {ks= ds vk/kkj ij cktkj ds nks izdkj crkvksA 

 Explain any two types of Markets on the basis of the area. 

iz-9 vkfFkZd fodkl ds izeq[k fu/kkZjd D;k gksrs gaS\ ¼dksbZ nks½ ¼2½¼2½¼2½¼2½    

 What are the main determinants of economic development? (any two) 

vFkokvFkokvFkokvFkok@@@@OR  

 vFkZO;oLFkk dh dsUæh; leL;kvksa dks fy[kksA ¼dksbZ nks½  

 Write any two central problems of an economy. 

iz-10 iznw"k.k ds dksbZ nks izdkj fy[kksA ¼2½¼2½¼2½¼2½    

 Write any two types of pollution. 

vFkokvFkokvFkokvFkok@@@@OR  

 lalk/ku D;k gSa\ le>kvksA 

 Explain what are Resources? 

iz-11 ches ds dksbZ nks egRo le>kvks\ ¼2¼2¼2¼2½½½½    

 Explain the any two importance of Insurance. 

vFkokvFkokvFkokvFkok@@@@OR  

 futh lEifÙk D;k gS\ 

 What is the private property? 
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iz-12 oLrqvksa ,oa lsokvksa esa Hksn fy[kksA ¼dksbZ rhu½ ¼3½¼3½¼3½¼3½    

 Distinguish between goods and services. (any three difference) 

vFkokvFkokvFkokvFkok@@@@OR  

 Je dh dksbZ rhu fo’ks"krk,a fy[kksA 

 Write any three characteristics of Labour. 

iz-13 “kjrh; vFkkZO;oLFkk ij oS’ohdj.k ds izHkko fy[kksA ¼dksbZ rhu½ ¼3½¼3½¼3½¼3½    

 Write any three effects of Globalisation on Indian Economy.  

vFkokvFkokvFkokvFkok@@@@OR  

 oLrqvksa ds forj.k ij dher dk izHkko dSls iM+rk gS\ 

 How price effects distribution of goods? 

iz-14 mRiknd vkSj vuqRiknd cpr esa Hksn Li"V djksA ¼dksbZ rhu½ ¼3½¼3½¼3½¼3½    

 Distinguish between the productive and the unproductive savings. (Any three points)  

vFkokvFkokvFkokvFkok@@@@OR  

 cpr cSad [kkrk D;k gS\ 

 What is the Saving Bank Recount? 

iz-15 “kjrh; vFkZO;oLFkk dh ewyHkwr fo’ks"krk;sa D;k gSa\ ¼dksbZ rhu½ ¼3¼3¼3¼3½½½½    

 What are basic features of Indian Economy? (Any three) 

vFkokvFkokvFkokvFkok@@@@OR  

 lkoZtfud {ks= ds m|eksa dh fo’ks"krk;sa fy[kks\ ¼dksbZ rhu½ 

 Write any three characteristics of Public Sector.  

iz-16 fo’o vFkZO;oLFkk ds mís’; fy[kks\ ¼dksbZ rhu½  ¼3¼3¼3¼3½½½½    

 Write the objectives of World Economy. (Any three) 

vFkokvFkokvFkokvFkok@@@@OR  

 fo’o O;kikj ds mís’; fy[kks\ ¼dksbZ rhu½ 

 Write the objectives of World Trade. (any three)  

iz-17 vko’;drkvksa dh dksbZ pkj fo’ks"krk;sa fy[kksA ¼4½¼4½¼4½¼4½    

 Write any four characteristics of wants.  

vFkokvFkokvFkokvFkok@@@@OR  

 vko’;drkvksa ds izdkjksa dks le>kb,A 

 Explain different types of wants. 
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iz-18 mRiknu o`f) ds dkj.k fy[kksA ¼dksbZ pkj½ ¼4½¼4½¼4½¼4½    

 Write any four reasons for increasing production. 

vFkokvFkokvFkokvFkok@@@@OR  

 mRiknu ds fofHké iSekuksa dks Li"V djksA 

 Explain different scales of production unit. 

iz-19 ek¡x dk fu;e le>kb;sA ¼4½¼4½¼4½¼4½    

 Explain the Law of Demand. 

vFkokvFkokvFkokvFkok@@@@OR  

 ek¡x dh ifjHkk"kk fy[kks\ rFkk fu/kkZjd rRo crkvksA 

 Write the definition of demand? State the determinants of demand.   

iz-20 izkÑfrd lalk/kuksa ds iru ds dkj.k fy[kksA ¼4½¼4½¼4½¼4½    

 Write the reason of Degradation of Natural Resources. 

vFkokvFkokvFkokvFkok@@@@OR  

 i;kZoj.k leL;kvksa ij fu;a=.k dSls fd;k tk ldrk gS\ 

 How is the control of environment problems done? 

iz-21 mRiknu bdkbZ;ksa ds izdkj le>kb;sA ¼¼¼¼5555½½½½    

 Explain the types of production units. 

vFkokvFkokvFkokvFkok@@@@OR  

 fons’kh mRiknu bdkbZ dk oxhZdj.k Li"V djksA 

 Explain the classification of foreign production units.  

iz-22 xjhch ?kVkus o jkstxkj c<+kus ds fy;s xzkeh.k fodkl dk;ZØe Li"V djksA ¼5½¼5½¼5½¼5½    

 Explain the rural development programmes to reduce poverty and increase employment. 

vFkokvFkokvFkokvFkok@@@@OR  

 tula[;k dh rhoz o`f) Hkkjrh; vFkZO;oLFkk dks fdl izdkj izHkkfor djrh gS\ 

 How does the fast rising population affect the Indian economy? 

iz-23 vFkZO;koLFkk D;k gS\ le>kb;s o fo’ks"krk;sa fy[ksaA ¼5½¼5½¼5½¼5½    

 What is the Economy?  Write the characteristics.   

vFkokvFkokvFkokvFkok@@@@OR  

 dsUæh; leL;kvksa ds lek/kku esa dher iz.kkyh dh Hkwfedk dks le>kvksA 

 Explain the role of the Price Mechanism in solving the central problems.  
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iz-24 taxyksa dk iru D;k gS\ vkSj blds izHkko crkb;sA ¼5½¼5½¼5½¼5½    

 Explain the degradation of forests? Explain effects of degradation of forests.  

vFkokvFkokvFkokvFkok@@@@OR  

 i;kZoj.k dh /kkj.kh; {kerk dks Li"V djksA 

 Explain the carrying – capacity of the environment.   

iz-25 fo’o O;kikj laxBu ds fl)kUr o dk;ksZa dks Li"V djksA ¼6¼6¼6¼6½½½½ 

 Explain the principles & functions of World Trade Organization (WTO).  

vFkokvFkokvFkokvFkok@@@@OR  

 fodkl dks izHkkfor djus okys dkjdksa dks Li"V djksA 

 Explain the factors affecting development. 

iz-26 fodkl’khy ns’kksa dh fo’ks"krk;sa fy[kks ¼dksbZ N%½ ¼6¼6¼6¼6½½½½    

 Write any six characteristics of developing countries. 

vFkokvFkokvFkokvFkok@@@@OR  

 ekuo fodkl lwpdkad dk oxhZdj.k djksA  

 Classification of Human Development Index  

 

---------------------------------------------- 
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